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1.50 0.61 4.00 0.74 6.50 0.79
2.00 0.65 4.50 0.75 7.00 0.793
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el__88.200 ]




T TR e R P3- ol - ERTERNGE TN TRMA DRI TS0 TH IR T Sl e
'!I-"h “mﬂm ﬂtl““'ﬂ_:-ll’l'.

o TN T T
L 5L
W b ) S L Rl O O D a ST L
& T mEVETE T SME 0 R ST AR T A i T
[ O3 meiatd ¥, BRI R R T TR TRE T

-
) -----n—rn-rrrn'rl‘l‘l'ITI-I- W
@ 7 B 3 4 B B F B % (0 N oV U4 6 AT 8 M M OD R B &

L1 L




2-7.

89500

89000

88500

88000

87500

(m2)

/
/

87000

86500

86000

-

1000

——

(m3/hr)

116 ha

1500 2000

(m2)

26.81 (m3/hr/ha)

2500

3000




A 10 min

Q 1 360x IcA

Q (m3/s)
Ic (mm/hr)
A (ha)
lc fl1 Fc
Ic (mm/10min)
f
| (mm/10min)
Fc (mm/10min)
() (Fo) Ilc 0
Fc R A 10
Fc (mm/hr)
R (m3/hr)
A (ha)
Ri Ni R = Ri _Ni(m3/hr)
900 m 0.26m3/hr/m 234.000
100 0.52m3/hr/ 52.000
286.000
Fc R A 10 4.353 (mm/hr)  0.726 (mm/10min)
A 10 min
6.57 ha
Q Qn Qc
Q (m37/s)
Qn (m3/s)
Qc (m3/5s)
Qc R 3600
Qc (m37/s)
R (m3/hr)
Ri Ni R = Ri_Ni(m3/hr)
900 m 0.26|m3/hr/n 234.000
100 0.52m3/hr/ 52.000
286.000

Qc R 3600 0.0794 (m3/s)
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Q = 1.9139 (m¥/S) 24 :00
30 Qin = 19139 (m%/S) 24 :00
0 o Qmax=  0.4592 (m°/S) 24 :10
t= 10 Hmax=  88.167 (m) 24 : 10
Vmax = 4474506 (m®)
Qc=__0.0794 (m3/s)
J (m*/s)
() mm/hr | (m3/s) | (m3/s)|  (m3/s| (m3/s) (m) (m?) (m%)
0 86.800 | 1960 | 1.284.000
10| 10| 3.4230.0534 0.0534 | 0.0005 0.0005 | 86.808 | 1970 | 1,299.869
20| 20| 3.4390.0537 0.0537 | 0.0026 0.0026 | 86.824 | 1989 | 1.331.061
30| 30| 3.455 ] 0.0539 0.0539 | 0.0053 0.0053 | 86.839 | 2007 | 1,360.950
40| 40| 3.471]0.0542 0.0542 | 0.0085 0.0085 | 86.853 | 2023 | 1.389.212
50 | 50| 3.487 | 0.0544 0.0544 | 0.0118 0.0118 | 86.866 | 2039 | 1,415.682
60| 1 3.504 | 0.0547 0.0547 | 0.0152 0.0152 | 86.878 | 2053 | 1.440.291
70| 10[ 3520 0.0549 0.0549 | 0.0186 0.0186 | 86.889 | 2067 | 1,463.037
80| 20| 3.537]0.0552 0.0552 | 0.0218 0.0218 | 86.899 | 2079 | 1.483.962
90| 30| 3555 0.0555 0.0555 | 0.0249 0.0249 | 86.908 | 2090 | 1,503.138
100 | 40| 3.572 | 0.0557 0.0557 | 0.0279 0.0279 | 86.917 | 2100 | 1,520.661
110 | 50| 3.590 | 0.0560 0.0560 | 0.0306 0.0306 | 86.924 | 2109 | 1536.635
120 | 2 3.607 | 0.0563 0.0563 | 0.0332 0.0332 | 86.931 | 2117 | 1,551.170
130 | 10| 3.625 | 0.0566 0.0566 | 0.0356 0.0356 | 86.937 | 2125 | 1564.381
140 | 20| 3.644 | 0.0569 0.0569 | 0.0378 0.0378 | 86.943 | 2132 | 1576.379
150 | 30| 3.662 | 0.0571 0.0571 | 0.0399 0.0399 | 86.948 | 2138 | 1587.271
160 | 40| 3.681 | 0.0574 0.0574 | 0.0417 0.0417 | 86.953 | 2143 | 1,597.161
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